

Si svolge un'operazione per volta

Si svolgono prima le parentesi tonde, poi le quadre ed infine le graffe

$$\begin{aligned} & 42 - [25 - (11 + 4) + 5] - (25 - 13) = \\ & = 42 - [25 - 15 + 5] - 12 = \\ & = 42 - [10 + 5] - 12 = \\ & = 42 - 15 - 12 = \\ & = 27 - 12 = 15 . \end{aligned}$$

$$\begin{aligned} & [24 - (35 - 30) + 3 - 10] - (3 + 8 - 4) = \\ & = [24 - 5 + 3 - 10] - (11 - 4) = \\ & = [19 + 3 - 10] - 7 = \\ & = [22 - 10] - 7 = \\ & = 12 - 7 = 5 \end{aligned}$$

$$\begin{aligned} & [(\underbrace{28+8}) - (\underbrace{11-10+1}) - (\underbrace{16-6-1})] + (\underbrace{8-8}) = \\ & = [36 - (\underbrace{1+1}) - (\underbrace{10-1})] + 0 = \\ & = [36 - \underbrace{2} - 9] = \\ & = [34 - 9] = 25 \end{aligned}$$

$$\begin{aligned} & 23 - [10 + 6 - (20 - 14) + 6 + 7] + 10 - 7 = \\ & = 23 - [10 + 6 - \cancel{6} + \cancel{6} + 7] + 10 - 7 = \\ & = 23 - [16 + 7] + 10 - 7 = \\ & = \underbrace{23 - 23} + 10 - 7 = \\ & = 0 + \underbrace{10 - 7} = 3 \end{aligned}$$

$$1 + [36 - (\underbrace{20 + 13 - 17}_{20}) - 8] + [(\underbrace{8 - 6 + 2 - 4}_{0}) + (\underbrace{8 + 3 + 22 - 12}_{22})] =$$

$$= 1 + [36 - (\underbrace{33 - 17}_{16}) - 8] + [(\underbrace{2 + 2 - 4}_{0}) + (\underbrace{12 + 22 - 12}_{22})] =$$

$$= 1 + [\underbrace{36 - 16 - 8}_{20}] + [(\underbrace{4 - 4}_{0}) + (\underbrace{34 - 12}_{22})] =$$

$$= 1 + [\underbrace{20 - 8}_{12}] + [\underbrace{0 + 22}_{22}] =$$

$$= \underbrace{1 + 12}_{13} + 22 =$$

$$= 13 + 22 = 35$$